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But for adjusting, what; he is exempt, etc. - Y912 7145 X% nnOY PaN

Overview!

The X713 is attempting to establish the &Xn»72 of ©°> 2137 that he is 7> if after he
picked up the 112223 he stopped to rest (¥19%), so the first 77237/77°py ended and it
has no connection to the nx&¥ 7T MR, This implies that if he merely stopped 7n3%
(to adjust the load) he would be 7105, so why get involved in 7731 77°77, when we can
differentiate between w0% (he is 21) and And% (he is Mwo).

Mmoo addresses a difficulty:
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Even if in the case of nn>% he would be 2%n, nevertheless the Xn3 still could
have asked, ‘let us differentiate in this case (of picking up the 712213, not 77»)

whether he stopped (when he is [always] 2717) or whether he did not stop at all
(where he is M09, since XX 7K 77237); why discuss 7734 at all.

Summary
It was (seemingly) not necessary to distinguish between w19% and qn3% in order to

reject the case of Tay.

Thinking it over
1. Where is the greater w11n that he is 10D; by 993 T2y R or by Ana% Ty?’

2. Is mpoIn question why the P17 of 121 °&n AN3% HaR, or is ModIN asking why does
the Xmx get involved in 9% and An3%, when it could have initially rejected the
answer of Tyw), by saying 17°7°72 19917

!'See ‘Overview’ to the previous three 177237 X1 ,X07 7" 'O

2 moon is commenting that it was not necessary for the X3 to get involved between w199 7oy (where he is 21) and
anoh Ty (where he is M), even if we assume that there is no difference between w152 and an3% (for in all cases he
is 27n, since the initial 77237 ended with his stopping), nevertheless the Xn*92 (when it states that he is 217) cannot
be discussing a case where he stopped (either w197 or Ana?), for then why go to 77a» to find a case where he is Mo,
we can be discussing the same case of picking it up (not 11an) and we still have a case where he is M9; when he did
not stop at all, in which case we say nR¥17 77X 77257!

3 See 7w 0" and 771 "7 2,87 'o1n. Could this be an answer to Mmoo difficulty?
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